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��� � ������
�� ��������� 	�� �����
�� �� ��
��� �
���	 ��� ������	 
� �
��� 
��

ẋ(t) = F (x(t)) , t ≥ 0, )�*

����� x(t) 
� 	�� �
%� �� 	�� ������	
�� �	 ��� 	
�� t ��� F � �	�	
����� 	������ 	
��� 
�
	�� ����	� ��	� ����	
��� ��� ����	
�� F 
� ������� 	� ��	
��� 	�� ������
�� ����
	
����

����
����� � ����� ��
�	 ���� ���
��� xsup ��� xns ���� 	��	 0 < xns < xsup < +∞�
��� ����	
�� F : (0, xsup) → R 
� ���
	
�� ���� 	�� 
�	����� (0, xns) ��� ����	
�� ���� 	��

�	����� (xns, xsup)� �
	� F (0) = F (xns) = 0� ����� limx↓0 F (x) = F (0)� ��� ����	
�� F 
�

������ �
���� �	 
� ������� 	��	 	�� �
 ����	
�� �&��	
�� )�* ���
	� � ��
&�� ����	
��
��� ����� 
�
	
�� �	��� x0 ∈ (0, xsup)�

��� &���	
	� xsup 
� 	�� �������� �� 	�� �����
�� �����
	� �� 	�� ���
������	� ���
����#��� ���
��� ���	�
��
�� ����� 
� xns� 	�� ����� 	� ��
�� 	�� ������	
�� 
� �������
��
��� ��� x0 ���� 	��	 0 < x0 < xsup�

��� ���������� ������

!� ��� 
�	����	�� 
� 	�� ��	
��� ������
� �����
	�	
�� �� 	�
� �������� 
� � �
����	�
������	 ��	
��� 
��� 
� 	�� ��������� �� 
������ ���	��� 	������ (�����
����� �� �����
�� 
������ �����
	�	
�� ���
�� �@ := {(ti, Ii), i = 1, 2, . . .} �� � ��&����� �� ��	��
��
��	�� ti ��� 
��	��	������ ��	���� Ii� ��� ��� ���� ��	�� ��� ��&����� �� ��	�� ��� 
�
���	�� ��
	� �� 
���
	�� �	 
� ���� 	��	 0 ≤ t1� ��� ti ≤ ti+1 ��� ���� i = 1, 2, . . . ���
limi→+∞ ti = +∞� A� ������	
��� �� ����� ������ 	��	 
� 	�� ��&����� 
� ��
	� �
	�
n ≥ 0 ������� 	��� ti = +∞ ��� ��� i > n�

��� ��&����� �� ��	���� ���	 
� ���� 	��	�

Ii ≥ 0 ��� xi − Ii ≥ 0 , )7*

-



����� 
� ��	�	
���

xi = lim
t↑ti

x(t) , �
	� x1 = x0 �
��� 
� t1 = 0, ),*

��� ���� 	��	 	�� ������
�� ����	��
�	� �����

ẋ(t) = F (x(t)) ��� ti < t < ti+1 �
	� x(ti) = xi − Ii� i = 1, 2, . . . )-*

ẋ(t) = F (x(t)) ��� 0 < t < t1 �
	� x(0) = x0 
� t1 > 0. )9*

�� �	��� ������ xi 
� 	�� �
%� �� 	�� ������	
�� <��	 
����� 	�� ��	��
�� ��	� ti� ���
xi − Ii 
	� �
%� <��	 ��	�� 	��	 ���� ��	�� �� t1 = 0� 	�� ������	
�� x1 
� �������� 	� 
�

����
	�� ���� 	�� ���	� ��� ����	�� 
� x0� '�	���� ��� ��	 
� ����	
�� ��� ������ 	�	��
������	
�� �
%�� ��� ����
	
��� )7*B)9* ����� 	�� ��	 �� ����	
�� �@�� ����	�� 
� Fx0�

��� ����������� ������

0���	��� ����	� ������	�� 
� ��� ��	�� ��� ������
�� ���� 	�� �
%� �� 	�� ��	�� ���
	�� �
%� �� 	�� ������	
�� �	 	�� ��	��
�� 	
��� !� ������ 	��	 	�� ����	 ����	
�� 
�
�	�	
����� 	������ 	
�� �� 	��	 ���	���� ti� Ii ��� xi� 	�� ������	 ����	� �	 	
�� ti �����	
	� π(xi, Ii)� ��� ����	 ����	
�� 
� ������� 	� ���� 	�� ������
�� �	������ ������	
���

����
����� � ��� ����	
�� π(x, I) 
� ������ �� 	�� ����
� D := {(x, I), x ∈ (0, xsup)�
I ∈ [0, x]}� �	 
� �� ����� C1 ��� 
������ �
��� 
� π̄ < +∞� ��� ���� 	��	 π(x, 0) = 0�
∀x ∈ (0, xsup)� ��� ���
��	
�� πI(x, I) := (∂π/∂I)(x, I) ���
	� � �
�
	 ���� I ↓ 0 ��� ���
x ∈ (0, xsup)�

@���	� ��� �
�����	�� �
	� 	�� 
��	��	������ 
�	����	 ��	�� ����	�� 
� r� �������
	�� ���
	�� �����	 
� ������	�� �����	
	
�� ���� ������ 	�� 
��	��	������ 
�	����	 ��	� 
�
������� 	� 
� � �	�
�	�� ���
	
�� ����	��	�

��� ���
��� �� 	�� ������� 
� 	� ������ ���� ���
�� ���
�
%
�� 	�� ��� �� 	��
�
�����	�� ����	�� 	��	 
�� 	� ����� 	�� ���
��� )@*�

)@* sup
�	∈Fx0

Π(�@) :=
∞∑
i=1

e−rti π(xi, Ii) .

�	 
� ������� ���� 	��	 	�� ����	
�� Π 
� ���� ������ ���� 	�� ����� ��	 Fx0�

�

��� ��
 ������
 ����������� ����
��	


!� ���

���	��� ��
	 	� ����
�� � ����	 ����	
�� �	 	�
� �	���� =�� �����	
�� &���	
�� ��
	�� ������
�� ���	
��� �
�� 	��� 
�� ���	 
� 	�� 
����	 �� 	�� ����	 ����	
�� �� 	�� 	���
�� ����	
��C !� �
�� ��� 	�� ������ 	� 	�
� &���	
�� 
� 2��	
�� 8�

!� ��� 	�� :����
� @�������
�� �������� 	� ����� ��� ���
���� ��� ������
��
	������ 
������ 	�� ��
�	���� �� � ��
&�� ����� ��� 	�� ���
����

�*� ����� �� �������2 ��5 ���� ���& �& ��� ��&� ����� ���&������ �&&�������&�
	@�&��%� ���� 1� ��������� ��� ������� 1��� � AsupB ��� ��� � AmaxB �����&� 1� ��� ������&��� ��

��� ��&&������+ ���� ��� ��2���� �& ��� ������� ��&��� ��� &�� Fx0 �
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������
 � ��� 
���� �����	��

v(x) = sup
��∈Fx

Π(��) )6*

	� ��� ��	��� �����	�� �� ��� ������	�� 
��	��	���� �����	���

v(x) = sup
y∈[0,xsup)

t≥0

e−rt [π(φ(t, x), φ(t, x) − y) + v(y)] , )8*

����� φ(t, x) 	� ��� ���������� �� ��� ������� �����	�� �� ��� �����	�� )�* �	�� x(0) = x�

������ ��� 	�
� �	������ ����� �� �����
� ��������
�� ��� :��
� +6� ������� )9-��4*�
���� 7,6.� D��%E��% +�F.� A���������#1
��� +7.�

� ��
 ������
���� ���
���
�	
 ��
��
� �
��

� ���

�
��� ������
 ���
	

� ��� ���
��� � 	�
	�� ���
	

�

�� 	�� ������
��� �� ������	��
%� 	�� ��	
��� ����	
�� �� ��� ���
��� )@*� �� �� ��� ��
���	 �
�� � ����
	
�� �� ����
��� ���
�
�� ��� 
�	������ �� ���
�
��� ���
��� )(@*� !�
	��� ������	 	�� ������	
�� �� 	�� ��	
��� 
������ ���	��� ���
��� !� ������ ���� 	��
��������	�� ����	
��� 
�	���� ���
���� )(@* ��� )@*�

���  �
	�
�	 ��	�
�
! ��� ��
 ����	���� ����	
�

�� ������� �
	� 	�� ����
�� ����
	
�� �� ����
��� ���
�
��� ��� �
	� 	�� ������	
�� �� 	��
����������
�� 	�	�� ����	�� �� ���� ���� ����
�
���� �����	�� :���� 	�� ����	
�� τ(x, y)
�� 	�� 	
�� ��������� ��� 	�� �����
�� 	� �� ���� ����� x 	� y� x ≤ y� �	 	���� ��	 	��	�
��� ��� 0 < x ≤ y < xns�

τ(x, y) =

∫ y

x

1

F (u)
du. )3*

2
���� 
� (�����	
�� �� F (xns) = 0� 	�� 
�	����� ����
�� τ(x, y) 
� �
������ ���� y = xns�
��� ����� ��� ������

���� ������ limy↑xns τ(x, y) = +∞ ��� 0 < x < xns� 	�� ������	
�� �� 	�� ��������
����� ��	����� ������� 	�� ����� xnsG

���� ������ limy↑xns τ(x, y) < +∞ ��� 0 < x < xns� 	�� ������	
�� �� 	�� �������� ����
����� 	�� ����� xns 
� ��
	� 	
��� ���	���� 	�� �	��	
�� ������ �� 	��	 ����� �� ������
	��	 	�� ��������� �	��	
�� �	 ����� x ��� �����
�� 	�� ����� xns� �	��� �	 	��	 �����
x(t) = xns ��� t ≥ τ(x, xns)� 
� ���������� �
	� 	�� �����
�� ẋ(t) = F (xns) = 0�

�
������ ���	��� ���	��� �� (�����	
�� � 
� 	��	 F (0) = 0� (� � �����&������ 
� x(0) = 0�
� ����	
�� 	� 	�� �����
�� )�* 
� x(t) = 0 ��� ��� t ≥ 0� ��
� 
���
�� 	�� ������	
�� 	��	
τ(0, y) = +∞ 
� y > 0� ��� τ(0, 0) = 0���

�
)��& ���%������ ���& ��� ���� ���� limx↓0 τ(x, y) = +∞ �� �%��+ &��������� $�� ���� �� ���& ��
$������ 6�
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�
������ ��������

!� ��� ��� 
� ���
	
�� 	� ����� ����	��� ���	�	��� ( ����
��� ���
�� ��� 	�� ��������	�� �
����� ��
�� 
� ������	��
%�� 
� 	�� ������ x ��� x̄G ��� � 	����
	��� ���	 ��
�� �����

��
��� 	�� 	��<��	��� ���� ���� 	�� 
�
	
�� �	��� 	� 	�� ������ ��� 	����
	��� ���	 ����
�	�

� �	 ���	 ��� ������	� ���� 	��	 	�� ����
�
�� ������	
�� 
� ���� 	��� x̄� !� ���	
������	��	� �� 	�� ������

( ����� ��� 	��� 	�� ��
� ������	���� ��
�� ��� ���� 	��	 0 ≤ x < x̄ ≤ xns�
�� !���


� 
	� ����
� ���	� � ���
�� ��	� �� �������� �*� ��	 	�� ������	
�� ���� �� 	� x̄G 
*� ������	
���� 	� xG ��� �����	� 2��� � ���
�� ����
�� ���� 	� 
�
	
�� ������	
��� x0 ≤ x̄� �� �	���
����� 	�� 	����
	��� ���	 ��� 
� �
������� �
	� ���� ��� ���� 
�
	
�� ������	
���

!� �
�� ����	� 
� G(x, x̄, x0) 	�� ����� �� �
�����	�� ����	� 
� � ���
�� �
	���	 	��
	����
	��� ���	� ����
�� 	� �� 
�
	
�� ������	
�� �� x0� ��� ������	� ����
	
�� �� 	��
����	
�� G 
������� ������� ������ ����������
�� 	� 	�� �
�
	 ����� ��� x̄ ��� x�


* �� 0 ≤ x < x̄ < xns� ��	 t1 = τ(x0, x̄)� ti = t1 + (i− 1)τ(x, x̄)� ��� i = 2...� Ii = x̄− x�
��� ��� i� ��� 	�	�� ����	 ��� 	�
� ���
�� 
��

G(x, x̄, x0) := π(x̄, x̄ − x)
e−rτ(x0,x̄)

1 − e−rτ(x,x̄)
. )4*



* �� 0 ≤ x < x̄ = xns�

��� � 2��� D���	�� ��	 t1 = +∞� �� 	��	 ����� G(x, xns, x0) := 0�

��� � ���	 D���	�� ��	 t1 = τ(x0, xns)� ��� ti = t1 + (i − 1)τ(x, xns)� ��� i = 2...�
Ii = xns − x� ��� ��� i���

��� 	�	�� ����	 ��� 	�
� ���
�� 
� �
��� 
� )4* �
	� x̄ = xns�




* �� x = 0� 	�� ����� ��� 	�� ����	
�� G 
� �
	�
��� ���� 	�� �������
��� �
��� 
�
������
�� 	�� 	��� exp(−rτ(x, x̄)) 
� F� �
��� τ(0, y) = +∞�

(	 	�
� ��
�	� 	�� ����	
�� G 
� ������ ��� ��� x < x̄� ����� 
	 ����������� 	� � ����
��

������ ���	��� ���
��� ��� ��� x0 ≤ x̄� !� ������� �
	� ������	
�� 	�� ����
	
�� ��� 	��
����� x = x̄ ��� ��� ��

	���� x0�

$�	� 	��	 ���� x = x̄� 	�� �����
��	�� 
� )4* ���
����� �� ���� �� 	�� ���
��	��� 
�
(�����	
�� 7� H���� (�����	
�� 7� G ��� 
� ������ 
� ���	
��
	� ���� x̄ → x = x
��� x0 ≤ x 
� 	�� ������
�� ����

G(x, x, x0) = πI(x, 0)
F (x)

r
e−rτ(x0,x) . )�F*

�
������ ��
�� 	�� ���	 	��	 τ(x, y) ������ 
� )3* 
� ���� ������ ��� y ≤ x� 	�� �������
�� )4*
����
��� ������ ��� 	�� ����	
�� G ���� x0 > x̄ �� ����� =� ������� 	���� �
	��	
��� ��
��	 ���������� 	� �� 
�������	�
�� ������	
�� ���
��� ��� 	�� ����	
�� ����� 
	� ������
�
����
���

��$���� x̄ �����&���& ��� ���������� ��%�� ����� 1���� ��� ��&����� ���1& ������ ���%�&����� ����� �& ��
������� �� ���&������� x̄ > xns &���� ��� ���������� ������ ���1 �� &��� � ��%���

�� � ��� ��&� ���1�� ��&�� � ���� ������� �+������ �����+ ����� �� ��<��� 1��� t1 = τ(x0, xns)+d� ���
ti = t1 + (i − 1)(τ(x, xns) + d)� ��� i = 2...� ��� &��� d ≥ 0� >�1�%��� �� �& ��&��+ &��� ���� ��� �&&�������
���<� �& � ������&��� �������� �� d �� π() > 0�  � π() < 0� ��� ��&� %���� �� d 1���� �� +∞C ���& ��&� �&
��� �����������+ ����%��� ��1�%���
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��� �� �����
 ���!��


/��
�� ������ 	�� ����	
�� G(x, x̄, x0) ��� ��� 0 ≤ x ≤ x̄ ≤ xns ��� ��� 0 ≤ x0 ≤ xns� ��
����� ��� 	�� ���
�
��� ���
��� )(@*�

)(@* : max
x, x̄; 0≤x≤x̄≤xns

G(x, x̄, x0).

��� "������	����� ��� #�����	 ���$

����
!

�� 	�
� ���������� �� 
�	������ � ��
�������
	� ������	
�� �� 	�� ����	 ����	
�� π
��� �
����� 
	� �����&������ �� 	�� ����� �� ��	
��� 	��<��	��
�� ��� @��
��� )@*� =	���
�����	� �� ��	
��� 	��<��	��
�� ��� ������	�� 
� (�����
� (�,�

'���
��� ��� 	�� ������
�� ������	
���

����
����� " ��� ����	
�� π 
� ���� 	��	�

π(a, a − c) + π(b, b − d) ≤ π(a, a − d) + π(b, b − c) )��*

��� ����� a ≥ b ≥ c ≥ d�

��� ������
�� ������	
�� ��� ����#����� �� ���� 	� ������

#�

� � ������ ���� π ���	���� �������	��  � �����

	! "�� g(x, y) = π(x, x − y) 
� ������ ��� xsup > x ≥ y ≥ 0� ���� g 	� ��
��������
���� 	�� ��� ��� a, b, c, d ���� ���� min(a, b) ≥ max(c, d)�

g(min(a, b), min(c, d)) + g(max(a, b), max(c, d))

≤ g(min(a, b), max(c, d)) + g(min(a, b), max(c, d)) .

		! �� π ��� ������#����� ���	
��	
��� �����

∂2π

∂x∂I
+

∂2π

∂x2
≥ 0 .

			! �� �������	�� $ ����� 	� ���	�	��� ���� ������	�� 	������	�� ������

π(x, x − z) ≥ π(x, x − y) + π(y, y − z) . )�7*

��� ��� x ≥ y ≥ z�

iv) �� π(x, I) = R(I)� ���� R 	� ���
�%� &��
������� 	� R 	� ���
�%� �������	��  ������

$�
��% � '���
	
�� )�7* )�
	� �	�
�	 
��&���
	�* 
� �����
����� ��&�
��� 	� 
����� 	��
��
�	���� �� ��	
��� 
������ ���	��� ���
�
��� 2�� ��� 
��	���� :��
� +6.� D
��� 1���� �
iii)� (�����	
�� , 
� 	�������� ��	�����

(�����	
�� , 
���
�� 
�	����	
�� ������
��� ������	
�� �� 	��<��	��
��� ��
�� ���

���������	 ���� 	�� �����
�� F (·) �� 	�� �
�����	 ��	� r�
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#�

� � &���	��� �� 	������ ������� ���	�� P ��	�� 	� ���� ���� ����� �%	��� i ��� j
�	�� i < j ���� xi ≥ xj ≥ xi − Ii ≥ xj − Ij� �����

i) �� �������	��  ����� �	�� ���	�� 	������	�� 	� )��*� ���� P ������ 
� ���	����

ii) �� �������	��  ����� �	�� �����	�� 	� )��* ��� 	� P 	� ���	���� ���� ����� �%	�� ���
����� ���	��� ���	�	��� ��� P ′ �	����� ��� ��� ���
���� (xi, Ii) ��� (xj, Ij)� ��� ���
P ′′ �	�� ��� ���	�	���� ���
��� (xk, Ik) �	�� xk = xi − Ii ��� Ik = xj − xi + Ij�

��� ����� �� 	�
� �����	 
� �
��� 
� (�����
� (�-�

��� ��
 %�����
���	 �&��'�	
�

 ��
��
�

$�� �� ��� ��
�� 	� ����� 	�� ��
� ����	
�� 
�	���� ���
���� )@* ��� )(@*� ��� �����	�
�� 	�
� ���	
�� ��� ���	�� 
���� �� 	�� ���	 ������	
��� ��� ����	
��� 	� @��
��� )(@*
	��� ��	 ��� 	� ������ �� x0� �� �	�	�� 
� 1���� 4� ��� (�����
� (�9� (� � �����&������
�� ��� 	��� �� ����	
��� (x∗, x̄∗) 	� 	�� ���
�
��� ���
��� )(@* 
���������	�� �� x0�

����
����� & ��� ���
��� )(@* ��� � ��
&�� ����	
��� ����	�� �
	� (x∗, x̄∗)� ��
��

� ���� 	��	 x∗ < x̄∗�

H���� ������	
�� -� ��	 �� ����� 	�� ������
�� ��	
�
%�	
�� ���
��� )�@*� ��
��
������
%�� 	�� I�����
	��� @��
���J� ��� 	����
	��� ���	 �� � ����
��� ���
�� ����
�	� 
�
�* ��		
�� ���� 	�� �	��� ��	
� ���� ����� xG 
* ������	
�� ���� x ���� 	� yG �* �����
��
	�� ����� �
	� ������	
�� 
�	����� [x, x̄] ���� 	��� ��� ��� &���	
�� 
� ��� 	� ������ 	��
&���	
	
�� x ��� y�

)�@* : max
x,y;

0≤y≤x≤xns
x0≤x; y≤x̄∗

e−rτ(x0,x) [π(x, x − y) + G(x∗, x̄∗, y)] .

��� ������
�� 	������ ������	��
%�� 	�� ����	
��� 	� 	�� ���
��� )@*�

������
 � ������ ���� �������	��� '() ����� "�� (x∗(x0), y∗(x0)) ���
� ��� ��%	�	*�#
�	�� ���
��� +��!� ���� ��� 
���� �����	�� �� +�! 	��

v(x0) =

⎧⎨
⎩

G(x∗, x̄∗, x0) if x0 < x̄∗

e−rτ(x0,x∗(x0)) [π(x∗(x0), x∗(x0) − y∗(x0)) + G(x∗, x̄∗, y∗(x0))] if xns ≥ x0 ≥ x̄∗.
)�,*

,����
�� ����� �%	��� � �����	�� �� +�! ��	�� 	� ����	���� 	� 	� �	
�� 
��

t1 = τ(x0, x̄∗), ti = t1+(i−1)τ(x∗, x̄∗), i ≥ 1, xi = x̄∗, Ii = x̄∗−x∗, i = 1, 2, . . . ,

	� x0 < x̄∗� ���

t1 = τ(x0, x∗(x0)), t2 = τ(y∗(x0), x̄∗), ti = t2 + (i − 2)τ(x∗, x̄∗), i ≥ 2,

x1 = x∗(x0), I1 = x∗(x0) − y∗(x0), xi = x̄∗, Ii = x̄∗ − x∗, i = 2, . . . ,

	� x0 ≥ x̄∗�
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��� ����� �� 	�
� �����	 
� �
��� 
� (�����
� (�9� ��� 	������ �	�	�� 	��	 ��� ��	
���
����
��� ���
�� ��� � ����� ���	 �
	� �� ������	
�� 
�	����� [x∗, x̄∗]� �	 ���� �����

�� 	��
��	��� �� 	�� 	����
	��� ���	 �� ��	
��� ����
��� ���
�
��� �� 	�� ���� x0 < x̄∗� 	���� 
� ��
	����
	��� ���	� ��� 	�� ����� 
� <�
��� ���� 	�� �	��	� �� 	�� ���� x0 ≥ x̄∗� ��� 	����
	���
���	 ����
�	� 
� ��		
�� 	�� �	��� ���� ��	
� x∗(x0)� ������	 
	 ���� 	� y∗(x0)� 	��� <�
�
	�� ������

!� ��� ��� �	�	� 	�� ������
�� ����	
�� 
�	���� ���
���� )@* ��� )(@*� 	�� ����� ��
��
�� 
� ����
��� 
� (�����
� (�6�

������
 " "�� �������	��� '( ����� �����

i) �� �������	�� ) ����� 	� ���	�	��� ���� +�! ��� � �����	�� ��	�� 	� ����	���-

ii) �� +�! ��� � �����	��� ���� +�! ��� � �����	�� ��	�� 	� ����	���� ��� ����� �%	��� �
�����	�� �� ���
��� +��! �	�� 0 ≤ x < x̄ ≤ xns�

!� ���� 	�������� ����� 	��	 	���� ��
�	� � ����
��� ����	
�� 	� ��� ���
��� )@* 
�
��� ���� 
� 	�� ����	
�� 	� 	�� ���
�
��� ���
��� )(@* 
� 
�	��
��� !� ��� 
����	��	� 	�
�
��
�	 
� 
�	�����	
�� 	�� ���	 ����� ����
	
��� �� 	�� ���
�
��� ���
���� ��� 	�� ���� ��
�� 
�	��
�� ����	
���

#�

� " �� +x, x̄! 	� � �����	�� �� ��� ��%	�	��� ���
��� +��! �	�� 0 < x < x̄ < xns�
x0 < x̄ +	����	�� �����	��!� ���� ��� ���� ����� ����	�	��� ��� �	
�� 
��

∂π

∂I
=

r

F (x)

e−rτ(x,x̄)

1 − e−rτ(x,x̄)
π(x̄, x̄ − x) , )�-*

∂π

∂x
+

∂π

∂I
=

r

F (x̄)

1

1 − e−rτ(x,x̄)
π(x̄, x̄ − x) . )�9*

K�������
��� �� �����

∂π

∂I

F (x)

r
=

e−rτ(x,x̄)

1 − e−rτ(x,x̄)
π(x̄, x̄ − x) , )�6*

dπ

dx
=

∂π

∂x
+

∂π

∂I
=

∂π

∂I

F (x)

F (x̄)e−rτ(x,x̄)
. )�8*

��� ���	 ����
	
�� �	�	�� 	��	� �	 	�� ��	
���� 	�� ����
��� ��
� ���� ������	
�� 	��
��������� ��
��	�� �
	� 	�� ����	� ��	��	
�� �	 	�� ��� �������� �	��� �� �������� 	� 	��

�	����	 ��	�� ������ �&��� 	�� ����� �� �	���
�� 	
�
��� ��	���� �� � ���
�
%�� ��	�	
����
������	 �	����� ��� ������ ����
	
�� �	�	�� 	��	 	�� ����
��� ��
� ���
��� ���� 	�� �	���
� ��	 
� �&��� 	� 	�� ����
��� ��
� ���� ������	
�� ������	�� 
� � ������	
�� ���	���
��
�� ������� �� 	�� ����	� �
 ����	
�� �	 	�� ����� ��� ����� �
�
	 �� 	�� ��	�	
����
������� 	�� ��		�� 
�
�� �
�����	�� ���� 	
��� 0��� ����
����� 	�� �
���� 	�
� ����	�
�
 ����	
��� 	�� ����	�� 	�� ����
��� ��
� ��� 	� 	�� �������� �	����

�F



! ��
 �"�����
�� �����
�

��
� ���	
�� 
� ����	�� 	� 	�� &���	
�� �� ����
�� ���	��� �� ��	 
	 ��� 
� ��	
��� 	�
������	 	�� ��������� ��� ������� �� 	�� ������
� 
� 	�� ������
�� ������
	
��� !� ���
	��	 	�� ���	�� ��� 	�� IL1AJ )L�����	
�� ������� 
�		��* ������	� 
� ������	
�� 	��
�������� 
� 
�		�� 	��� ����
�� �� ��

	���
�� ����� &���	
	� x� !� ����� ��	 ������� ����
	�� 
���� �� ���
�� ��	
���
	� �� ������	
��� 	�� ������	��
%�	
�� �� ��
�� ����� 	� ��&�
��
�	������ ������	
��� �� 	�� ���
����

����������� � ������ ���� ��� ��	� �����	�� π(x̄, I) 	� ���	�	
�� ������	�� �� ��� ����
�� ��� ������ �����	�� F (x) �� x → 0� �� ��
��

	! �� F (x) ∼ αxβ �	�� α > 0 ��� β > 1� ���� ��� ."/ �������� ������

		! �� F (x) = αx + O(x2)� ��� 	� a = r/α� �����

		�'! 	� a > 1� ���� ."/ ������

		�$! 	� a = 1� � ��������� ����	�	�� ��� ."/ 	� ���� ����� �%	��� �� xm ���� ���
��
.����	�� )9F*� ��� �����

π(xm, xm) lim
k→0

exp(−rτ(k, xm))

k
≤ πI(xm, xm) . )�3*

		� ! 	� a < 1� ���� ."/ ���� ��� �����

			! �� F (x) ∼ αxβ �	�� α > 0 ��� 0 ≤ β < 1� ���� ."/ ���� ��� �����

�� �	��� ������ ��	
��	
�� 
� ��	���
��� 
� 	�� 
�
	
�� ����� �����
	� �� 	�� ��������
��� 
� 	�� ����	
�� 
����	���� �� 	�� ����	� ��	� ��� 	�� �
�����	 ��	�� ��� ����� 
�
����
��� 
� (�����
� (�8�

# $
�%� �
��

� ������
 ������� &��
�� ��� ����
��

���� ������� &��
��

(��  ������!�� )���  	��*+! ���
	

!� ��� ��� ��	�
�
�� � ���	 �
�� 
�	���� 	�� ������� 
������ ���	��� ����� ��� 	��
���	
����� ���	��� ������ �� �������� 
� '���� +,.�

'���
��� � ����	
�� �� ���
��� )(@* �� 	�� 
������� x = x̄� ��� ���
�
%�	
��
���
��� 
�������

max
0≤x≤xns

G(x, x, x0),

����� G 
� �
��� 
� )�F*� ��� ���	 ����� ����
	
�� 
��

πIx(x, 0)F (x) + πI(x, 0)[F ′(x) − r] = 0 . )�4*

1�	 �� ����	� 
� x∗ � ����	
�� �� )�4*� !� ��� ��� 	��	 	�
� ����
	
�� ��
��
��� �
	�
	�� ���� ����� ����
��� ������	
�
	� ���� �� �������� �����
	�	
�� ���� πI(x, 0) 
� 	��

��	��	������ ����	 ����	
�� )��� ��� ������� '���� +,. �� '���� ��� 0���� +-.*� ��

��



���	� L&��	
�� )�4* ��
��
��� �
	� 	�� �&��	
�� ��
�� ��	���
��� 	�� �	���� �	�	� �� 	��
������
�� '����#�
�� �
������ ��	
��� ���	��� ���
����

)'@* max
h(·)

∫ ∞

0

e−rtπI(x(t), 0)h(t) dt , )7F*

ẋ = F (x) − h, )7�*

��� x0 �
��� ��� 0 ≤ h(t) ≤ hmax ��� ��� t� ��
� ����� 	��	 	�� ����
	
��� �� � '����#�
��
�	���� �	�	� ����	
�� ��� ���� 
� 	�
������ 
� 	�� 
������ ���	��� ����� 	��	 �� ��������
�� ����� 
� 	�� ���	 ���	
���

(�� ,
	�����!���! �
�)

� -�./ -��. ��� - �.

!� ��� ��	�
�
�� 	�� ����	
����
� 
�	���� 	�� ��
�� 
� '����>� ����	
��� 	�� ����	
�� ��
)(@* �� 	�� 
������� x = x̄� ��� 	�� ����	
�� �� @��
��� )@*�

������
 & �� ��� �����	�� �� +��! 	� �� ��� 
������� x = x̄ = x∗� ����� ���� ��� �%	��
� �����	�� �� +�!�

������
 ' �� ��� �����	�� �� +��! 	� �� ��� 
������� x = x̄ = x∗� ����� �%	��� � ��������
�� ����	��� 	������ �������� �	�� x̄ − x = ε ��������	�� ��� 
���� G(x∗, x∗, x0), ∀x0 ≤ x∗�
	� ��� ����� ����� ����� �%	��� � �������� xε ���� �����

lim
ε→0

G(xε, xε + ε, x0) = G(x∗, x∗, x0).

��� � �
���	 ������ ��� L�����
���� +4.� ��
� �����	 
� � �����&����� �� ������� �����	�
�� ����������� �� ε#������
��	
��� 
� ������	 ��	� )��� K���������� ��� !�	� +7�.*�

$�
��% � �	 	���� ��	 	��	 	�� ����� G(x∗, x∗, x0) 
� 	�� ����� �� 	�� ����	
�� 	� ���
���
)'@* ������ 
� )7F*B)7�*� 
� x0 ≤ x∗�

�� 	�� ����	
�� �� )(@* 
� ���� 	��	 x < x̄� 	�� ��	
��� ��	���� 
� ����
���� �� 	�
�
����� �� �����

������
 ( �� +�! ��� � ����	��� �����	�� +��� �����	�� �� ��� ���
��� +��! 	� ���� ����
x < x̄!� ���� ��� ��	� ���� ��� 	������ ������� ����� v(x0) 	� ������� ���� ��� ��	� ��
���
��� +&�! ������ 
� )7F*()7�*� G(x∗, x∗, x0)� ��� ��� x0 ≤ x∗�

' $
�%� �
��

� ������
 ������� &��
�� ��� (
�	�
�


&��
��

�� 	�
� ���	
��� �� ���� 	��	 :��
� ��� ;����>� ����� +8. ��� 
� ��
����� 
� �����
	������ � ������ ���
�� �� 	�� �����
��� 	�� ���	 ����	
�� ��� 	�� �
�����	 ��	�� �����
�� �����
� 	�� �������������� 
�	���� 	�� �����	� �� +8. ��� �����
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0�� �&��'�	
�� �
1������! )��� ��'�� ��� ���
	+! ���
	

(���� )����� �������� ��	 ��
� ���� ���������	 �� ��� ������

��� ����� �� :��
� ��� ;���� 
� 
� �
����	� 	
��� ��� ������	
�� �����
�� ��� 	��
�����

xt+1 = f(xt) − ut = min[M, (1 + λ)xt] − ut

�
	� xt, ut ≥ 0 ∀t ≥ 0 ��� M = 1� !� ������� �
	� ��������
�� 	�
� 
����
�� ��� ���
������ !��� �� ������	
�� 	���� ������ �� ���	 ����� ẋ(t) = F (x(t))� 2�������

F (x) = Ax 
� x < xns = 1 ��� F (x) = 1 − x 
� x ≥ 1.

�	 ��� 
� ������� 	��	 	�
� ����	
�� ��	
���� (�����	
�� �� ��	����	
�� 	�� �
 ����	
��
�&��	
��� �� ��� 	��	 	�� �	��� ������� ������
�� 	� 	�� ������
�� ����	
���

x(t) = φ(t, x0) = min(x0e
At, 1) .

�� ����� 	� ��������� 	�� �����
�� �� :��
� ��� ;����>� �
����	�#	
�� ������ �� �� �
	
�� ����	
�� Δ� ��� ��	�

xt+1 = φ(Δ, xt).

��� �����
�� ��� �&�
�����	 ���� f(xt) = φ(Δ, xt) ��� ��� xt� ��
�� 
� 	�� ���� �����

(1 + λ)xt = xte
AΔ.

!� ������ ��� 	�� ����
��� ����	� ���	�� A ���	 
� ������ 
� 	���� �� :��
� ���
;����>� ���	�� 1 + λ�

A =
log(1 + λ)

Δ
. )77*

1�	 �� �����	� 	�� 	
�� ���� ��������� ��� 	�� �����
�� 	� ��	 ���� x 	� y 
� 	���� ��
	�� ��� ��	�	
��� ��� ����� x ≤ y ≤ 1�

τ(x, y) =

∫ y

x

1

F (u)
du =

∫ y

x

1

Au
du =

1

A
log

y

x
.

(���� *��������	 !������

��� 	�� ���
�����	�� ��
��� g� 	�� �������������� �
	� :��
� ��� ;����>� ����� 
� ����

� ��		
���

π(x̄, I) = R(I).

$�	� 	��	 ��� 	�
� ���	
����� ���� �� 	�� ��
� ����	
��� '���
	
�� )��* 
� �&�
�����	 	� 	��
������
	� �� R� ������
�� 	� 1���� � iv)�

1�	>� ����
��� �
�����	
��� �� 	�� ���	
����� ����� ��� ����� v(t) ������� �� �������
�
	� �
�����	
���

v(t) = v0e
−rt.

�� �
����	� 	
��� �
�����	�� ������ ������ ���

vt = δvt−1 = δtv0.

�,



2
��� �� ���� ������ 	�� �������������� vt = v(Δt)� �� ������ �����

δt = e−rtΔ

	��	 
��
log δ = −rΔ .

!� ��� ��� ������� :��
� ��� ;����>� 	�������� a 
� 	�� ��� ��	�	
���

a = − log δ

log(1 + λ)
=

rΔ

AΔ
=

r

A
.

(���" ��� 
� �
�+����� ���!��


!� ������� �
	� 	�� ����
	
�� �� 	�� ����	
�� G ��
�� 
� 	�� 
��
� �� 	�� ���
�
���
���
��� )(@*� ��� ����� ���	 
� ����
������

• ��� ������� ���
��� �
	� x < x̄� �� 	�
� �����

G(x, x̄, x0) =
R(x̄ − x)(x0

x̄
)

r
A

1 − (x
x̄
)

r
A

=
R(x̄ − x)(x0

x̄
)a

1 − (x
x̄
)a

. )7,*

��
� �������
�� ����� 
�����
�� ���� x̄ = xns = 1 ��� x = 0�

• ��� 
������� ���
���� K����
�� 	��	

π(x̄, I) = R(I)

���	�������

lim
I→0

∂

∂I
π(x̄, I) = R′(0).

/�����

G(x, x, x0) = R′(0)
Ax

r

(x0

x

) r
A

= R′(0)
xa

0

a
x1−a. )7-*

:��
� ��� ;���� ����� 	�� ����	
�
	� �� ��
�� �� 	�� ����	
���

ε(x) =
R′(x)

xR(x)
. )79*

!� �����

#�

� & ��� ������	�� ������� ���� ��� ��� 0 ≤ x ≤ x̄ ≤ 1�

i) �� a < 1� �����

0 < ε(x̄ − x) − 1 <
∂G

∂x̄
(x, x̄, x0) < ε(x̄ − x) − a . )76*

ii) �� a > 1� �����

ε(x̄ − x) − a <
∂G

∂x̄
(x, x̄, x0) < ε(x̄ − x) − 1 . )78*

�-



iii) �� a = 1� �����

1

G(x, x̄, x0)

∂G

∂x̄
(x, x̄, x0) =

1

x̄ − x
(ε(x̄ − x) − 1) > 0 . )73*

#�

� ' �� a > 1� ����
∂G

∂x
< 0 .

��� ����� �� 	���� ������ ������� ���� �	������ �������	
���� ��� ���	 	��	 ε > 1
������� ���� 	�� ������
	� �� R ��� 	�� ���	 	��	 R(0) = 0�

(� � �����&����� �� 1����� - ��� 9� �� ���� 	�� ������
�� ��	
�
%�	
�� �����	��

#�

� ( ��� �����	�� G �	
�� 
� )7,* ��� )7-* ��� ��� ������	�� �������	���

i) �� a < 1� ���� ����� �%	��� � ��	��� (x, x̄)� �	�� 0 < x ≤ x̄ = 1� �����	�� ���

max
0≤x≤x̄≤1

G(x, x̄; x0) . )74*

ii) �� a > 1� ���� ��� ��� x̄�
��� max

0≤x≤1
G(x, x̄; x0) = 0. ),F*

iii) �� a = 1� ����
��� max

0≤x≤x̄≤1
G(x, x̄; x0) ∈ (0, 1) . ),�*

0�� ,
	�����! )��� ��
 ,
!�	�! �� ��)�� ��� ���
	

:��
� ��� ;���� ���� 
�	������� � 	�������� ������ a� ��� ��
�� 	�� ���
�
�� ����� 
�

��
 ����	 
�	���� ������	
�� 
����
�	��� �� ������	
�� 
� 	�� ���	 ���
��� A���� ��
	�
� ����
	
��� 	��� �	�	� 	�� ������
�� ��������	�� �����	�� ��
�� �� ��� ���� ��� 
� ���
����������

(� ���� 	�� ����	
�
	� �� ��
�� ε� �������� ���� 	�� ������	 �� ��� ���
��� 
� ������ 	���
	�� 	�������� a� 	�� ��	
��� ���
�� 
� 	� ��
	 ��� ����� 	�� �����
	�	
��� ���������� ����
	�� ������� ����	
�
	� �� ��
�� ε 
� ������� 	��� a� 
����
�	� �����
	�	
�� 
� ��	
���)���
+8� 1���� 9.*�

�� 	�� �����#����
��� ����� a < 1� :��
� ��� ;���� ���� 	��	 
����
�	� ��	
��	
��

� ����� ��	
���� �� ��� ��������� �� ��� ������ 	�
� �����	 ���� @�����
	
�� � ii.3)�
�
��� 	�� ����	� ����	
�� 
� ����
���� �� 	�� ���� F (x) = Ax� ��� a = r/A� �� 	�� �����#
����
��� ����� 	�� ��	
��� ������� 
� ����	����� ����
�� �� :��
� ��� ;���� ���� 
� 	��
�
@�����
	
�� �� =�	
��� ���
�
�� 
� ��� ��������� ��� ���� ����
���� ����� 	�� ����
	
���
�
��� 
� ������� ,�

�� 	�� ��
#����
��� ����� a > 1� :��
� ��� ;���� ���� 	��	 
����
�	� ��	
��	
��
��� 
� ��	
���� !� ��� ������ 	�
� �����	 ���� @�����
	
�� � ii.1) ��� ���� 1���� 9
ii)� 0�������� 1���� - i) ����������� 	� @�����
	
�� ,� �� 74F �� +8.�
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��
�+ ���
	

�

'������� 	�� ���������� �� �� 
�	��
�� �� � 
������� ����	
�� 
� ��� ����� ������� ��
	�� ����	 ����	
�� 	��	 ����
��� ��� ���	 ����	
�� 
� 	�� ���	 �
���
�
��	
�� ������	 ��
	�� �
 ����	 ����	 ����	
��� �	��
�� 
� 	�� �
	���	���� '��	� ��� ������ �� 	�� ���
	��

����	���	 
� 	�� ���	�� )��� ������� 	�� ���
�� ��� 	��� �� ������� �� 	�� ���
��
�� ��������*� 	�� �
������� �� 	�� �������� �	���� 	�� ������	
�� ��	� �� 	�� ������	
�����	� �� 	�
� ������ �� �	��� �	���#��������	 ������	 ���	 ����	
���� ���� �� 	�� ���
�������� 
� '���� +,.� !� ��� ���� 	� ����� 	���� ����	
��� ��
�� ��� 
� ����
�� 	�
��� 
������ ���	��� ������ 2������ �
 ����	 	���� �� ���	 ����	
��� ���� 
��� ��������

� 	�� �
	���	���� 	��	 ��� 
� 	���������� 
�	� 
������ ���	 ����	
������ !� ������� 	����
���	 ����	
��� ��� 	��
� �����
�	�� ����	 ����	
��� 
� 	�� ������
�� ��� �	��� 	�� 	��� ��
����	
�� 	��� 	�
�����

2�� � "
�����	
 ���1� %��
���� �����!
� �� ��
 3��
�����


'���� +,. ���
��� 	�� �
<��	
�� ����	
�� ��� 	�� ���	
����� ���	��� ����� ���� � ���	
�����
������	
�� ����	
��� ��� ������	 ��	� h(t) 
� ��	���
��� 
� 	�� �	��� �
%� x = x(t) ���
	�� ��	� �� ������	
�� � ��	 E = E(t) ���� 	��	 h = Q(E, x)� ����� 	�� ����	
�� Q(E, x)

� 	�� ������	
�� ����	
�� �� � �
��� �������� 
����	��� '���� ������� 	�
� ����	
�� 	� 
�
� '�

#:������ ����	
�� �� 	�� ����

Q(E, x) = aEαxβ ,

����� a�α ��� β ��� ���
	
�� ����	��	� ��� �����
���� α = 1� ��� ����	
�� axβ ���

� �������� �
	� �� ��

	����� ����������
�� ������ �"�
���� ����	
�� S(x)� ���� 	��	
h = Q(E, x) = S(x)E ��� E = h

S(x)
� ��� ���	 �� � ��
	 �� � ��	 
� ���� � ����	��	�

c = CE� ����� 	�� ���	
����� ���	��� ���	 ����	
�� ��� 
� ��
		�� ���

cc(x, h) = CE =
C

S(x)
h

���� ��� a = 1 ��� β = 1� �� �����

cc(x, h) =
C

x
h,

��� 	�� �����
�	�� 
��	��	������ ����	 
� �� 	�� �����

πc(x, h) = (p − C

x
) h,

����� p 
� 	�� �������� ��
���

2�� ��
 "
�����	
 ���1� %��
���� �����
� �� ��� ����	
�

�� ����� 	� ��������	 ������	
�� �� � �
����	� �������� �� ��� ������ 	�� ������
�� ���#
����� 
� '���� )<��	 ��
�� ������	 �����	 ��� � ��	 �	 � ��
�	 
� 	
�� 
��	��� �� 	��
���	
����� ���
�
���*� ��� �����	
�� ����	 ����	
�� 
� �
��� 
��

π(x, I) = a(x) d(I) .

��D+ �����&� ��&� �������� 1� ���� ��� ��&� �������� &��� �& �� ������& �� �� �����&� ������� ��������
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$�	� 	��	 	�
� 
� � ������
�� ����	 ����	
��� ���
�
�� ������	 ���	�� �
���� 	� 	�� �����	
�� ������	
��� ��� 
���������	 �� ������ ���	�� ��
�� ������ �� 	�� �	��� ���
��

�
	��
��
� 
� � ����� ������	
�� 
� ������
�� �������� ������
�� ��
�� ����� �������
�� 	�
	�� ��	��� 	� ��
�� ������ �&�
����	 ��� ������	
�� �&�
����	 ��� ������	� 
����	���	��

����������� � ������ ���� ���
��� +��! ��� ��	� ����� �����	�� ��� � ��	��� �����	���

"�� x∗ 
� �����	�� �� +'0!� �� a(x∗) > 0 ��� d′′(0) + d′(0)a′(x∗)
a(x∗)

> 0 ���� ����� �%	��� �

����	��� �����	�� �� +�!�

������ �	 
� ��"�
��	 	� ����� 	��	 	���� ��
�	� �� 
�	��
�� ����	
�� 	� 	�� ���
�
���
���
��� )(@*� H�
�� 	�� ��
&������ �� 	�� ����	
��� 	�
� ����� 
���� (�����	
�� -� ���

� ������� ,� 	��	 � ����
��� ����	
�� 	� )@* ��
�	��

!��� π(x, I) = a(x)d(I)� �&��	
�� )�F* 
� �
��� 
��

G(x, x, x0) = a(x)d′(0)
F (x)

r
erτ(x0,x) .

���� �&��	
�� )�4*� �� ���� 	��	 ���	 ����� ����
	
��� ���� ���

a′(x)F (x) + a(x)(F ′(x) − r) = 0. ),7*

!� ��� ������� G 
� � ��
�
������� �� 	�� ����	
�� x = x̄ ��
�� � ������ ���
��

G(x + h, x + k, x0) ∼= G(x, x, x0) +
F (x)

r
erτ(x0,x)B(x, h, k),

�����

B(x, h, k) =

{
ε

2
a(x)

[
d′′(0) + d′(0)

r − F ′(x)

F (x)

]
+ hd′(0)

[
a′(x) − a(x)

r − F ′(x)

F (x)

]}
, ε = h−k.

�� 	���� ��
�	� h ��� ε > 0 ���� 	��	 B(x∗, h, h − ε) > 0� 	��� 	���� ��
�	� � �
���	
��
��
�	
�� 	� 	�� 
�	��
�� �� 	�� ����
� )����� x < x̄* �
	� ����	�� ����	 	��� G(x∗, x∗, x0)�
��
� ����� 	��	 
� 	�
� ���� 	�� ����	
�� 
� ��	 �� 	�� 
������� x = x̄� D
��� 	��	 x∗

���
��� ),7* 	��� ��"�
��	 ����
	
��� ��� �
	�
�
�� B(x∗, h, k) ����	�� 	��� %��� ����

a(x∗) > 0

���

d′′(0) + d′(0)
a′(x∗)
a(x∗)

> 0.

!� 	��� ���� 
���	
��� � ����� �� ����	 ����	
��� ��
�� ����� 	� � ����
��� ��	
���
������	
�� �	��	��� 
� ��� 
������ ���	��� ���
����

2�� ��
 �
����!
�  �!


��������� +7-. �	��
�� � ����	 ����	
�� 	��	 
������ 	� 	�
� ����� �� ������
�� ����	
����
�� ��� ����� 	�� ����	� ����	
�� 
� �� 	�� ���� F (x) = s0x(1 − x/K)� 	�� ��
� 
� ��

	�� ���� g(x, y) = a(x)d(x − y) �
	�

a(x) = p − bc

x
, d(I) = I .

�8



!� ����� 	�� �����
� ������ �������� 
� ����������

K = 500, s0 = 0.08, p = 50, b = 0.3, r = 0.03, c = 9375.00 .

!� ���� ���� 	�� 	�����	
��� �����	� 	��	 	���� ��
�	��

• �� 
�	��
�� ����	
�� 	� )(@*� 
������ a 
� �	�
��	� 
������
�� ���� ���
	
���

• ��� �� �	��� 
�	��
�� ����	
�� 	� )�@*�

�� ���
	
��� ���� 	�� ����
��� ���	
�� �� ���� 	��	 ��
�� �����
�	�� 	� 	�� ����	
�� ��
��� 
������ ���	��� ����� ��� ����	�� 	��� ��
�� �����
�	�� 	� '����>� ���� )
� ��
�� 	��
���	 ����	
�� 
� c(x) = b/x*� ����
��� 	��	 (�����	
�� - ������

��� ����	
�� G 
� �
������� 
� �
���� �� ��� ���
��� 
� ������� �	 x̄∗ � 268.32�
x∗ � 106.31�

0
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1�	� x(t) = u � x(t0) = x0� ẋdt = du � x(t1) = x1� !� 	��� �����

lim
hmax→∞

∫ x1

x0

(p − c(u))
hmax

F (u)− hmax

du =

∫ x1

x0

(p − c(u)) lim
hmax→∞

hmax

F (u) − hmax

du

=

∫ x0

x1

(p − c(u))du .

��
� ����� �� 	� ����� 	�� ����	 ����	
�� 
� ��� 
������ ���	��� ���
��� ���

π(x̄, x̄ − x) =

∫ x̄

x

[p − c(x)] dx . ),,*

$�
��% " ��� ���� ��
� ����	
���� 
	 
� ���� 	� ����� 	��	�

i) ��� ����� a ≥ b > c ≥ d�

π(a, a − c) + π(b, b − d) =

∫ a

d

[p − c(x)] dx +

∫ d

c

[p − c(x)] dx

= π(a, a − d) + π(b, b − c) .

ii) (�����	
�� , ����� 	��������� 
�	 �
	� �&���
	� 
� )��*� ��� �� �����

πxI + πII = 0 .

iii) (� �	�	�� 
� 1���� 8 )��� (�����
� (�7*� 	�� ����	
�� y∗(x0) 
� ����	��	 
� 	�
�
����� �
	� y∗(x0) = x∗ ����	
�� �� )�4*�

1�	 �� ������� 
� ���
	
�� 	��	 	�� ���	 ����	
�� ��� �����
�� �� 	�� ���
��� ���
����
������ �
��� 
��

c(x) =
b

xα+1
, F (x) = g0x(K − x), α ≥ 0 . ),-*

�� 	�
� ���� �� �
	�
� 	�� ������
�� �����	�

����������� " 1�� π(·)� c(·) ��� F (·) �	
�� 
� +  !(+ )!� x∗ �����	�� �� +'0! 	� � ���
��
��%	��� �� ���
��� +��!�

������ !� ��� ��
�� 	� ����� 	��	 ∀x < x̄ �� ���� H(x, x̄) := ∂G
∂x

(x, x̄) > 0 �����
x = x̄ = x∗ 
� � ���
�� ���
���� '���
����

H(x, x̄) =

[
−p + c(x) + [p(x̄ − x) −

∫ x̄

x

c(u)du] e−rτ r

F (x)(1 − e−rτ )

]
e−rτ

1 − e−rτ
.

!���� τ = τ(x, x̄)G 1�	 �� �	��� 	�� �
�� �� H(x, x̄)�

H(x, x̄) =
H2(x, x̄) x (p − c(x))(K − x) + α x g0 (K − x) + H3(x, x̄)

H1(x, x̄)

�4



������

H1(x, x̄) = α x g0 (K − x)

[(
x̄(K − x)

x(K − x̄)

) r
g0K

− 1

]
< 0,

H2(x, x̄) = −α g0

(
x̄(K − x)

x(K − x̄)

) r
g0K

< 0,

���
H3(x, x̄) = r p α(x̄ − x) + r b c (x̄−α − x−α).

!� ���� 	��	 H3(x̄, x̄) = 0 ���
∂H3

∂x
(x̄, x̄) = r α(−p + c(x))� ��� ��� x ���� 	��	 −p +

c(x) < 0 �� ���� H3(x, x̄) > 0� (�� 	���� 
��&���
	
�� 
���� 	��	 H(x, x̄) > 0�
��� ��	
��� ������	
�� �	��	��� �����
�	�� 	� 	�� 
�	����� ����	 ����	
�� ����� 	� �

���#����
��� ��	
��� ������	
�� �	��	��� 
� ��� 
������ ���	��� ���
���� $�	� 	��	 '����
+,. �	��
�� 	�
� ����	 ����	
�� 
� ������ ����� 	�� ������	
�� ������� 
� �������� 	� 
�
� �
����	� ��	
��� D�
�� �����
�	�� 	� 	�� ����	
�� ���� ��� 
������ ���	��� ����� 	���
	������ 	�� ��
�� �����
�	�� 	� '����>� ���	
����� ���� 
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�� c(x) = b
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� �
�����&����� �� ������� 9 ��� 
�
	
�� ������	
��� x0 < x∗� ��� ���� �� 
�
	
�� ������	
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������ 	��� x∗ ����
�� 	� 
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��	���
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��	 ����
	
��� ��� 	�� ��
�	���� �� ������ ��� 
������
���	��� ���
�
���

1�	 Fmax 
� �� ����� 
���� �� ����	
�� F � ��
�� ��
�	� ����� (�����	
�� �� ����
	�� �&��	
�� �� 	�� �����
�� )�*� �� ���� ��� ��� t1 ≤ t2�

x(t2) ≤ x(t1) + Fmax(t2 − t1) . ),9*

$��	� ����	� �
	� π+ 	�� ����	
��� π+(x, I) = max(π(x, I), 0)� (����� 	��	 	���� ��
�	�
� 
������ ����	
�� � : [0, xsup) → R+ ���� 	��	�

π+(x, I) ≤ �(x)I .

!� ���� 
���� 	��	 	���� ������	
��� 
���� 	��	 	�� ��
� �����
�	�� �
	� ��� 
������
���	��� ���
�� �� 	�� ���
�� Fx0 
� 
������ �
����

1�	 Δt ≤ (Fmax)
−1� !� ���	 ���� 	��	 	�� 	�	�� &���	
	� �� �������� ������	�� 
� ���


�	����� �� ����	� ���� 	��� Δt 
� 
������� ������� 
������ ���
�
�� �� 	�� ����� Fx0 ���
���� 	��	 limi→+∞ ti = +∞� 	���� ��
�	 ��
	� ���
��� p ��� q ���� 	��	�

∑
i | a≤ti<a+Δt

Ii =

q∑
i=p

x(t−
i ) − x(ti)

= x(t−
p ) − x(tp) +

q∑
i=p+1

x(ti−1) + [x(t−
i ) − x(ti−1)] − x(ti)

= x(t−
p ) − x(tq) +

q∑
i=p+1

[x(t−
i ) − x(ti−1)]

≤ xns +

q∑
i=p+1

Fmax(ti − ti−1) = xns + Fmax(tq − tp)

≤ xns + FmaxΔt .

$��	� �� ���� 	��	 	�� 	�	�� ��
� �� ��� ���
�� 
� 
������ �
���� ������� ��������
��
	�� 	
�� ���
%�� 
�	� 
�	������ �� ����	
�� Δt� �� ����

Π =

∞∑
m=0

∑
i | mΔt≤ti<(m+1)Δt

e−rtiπ(xi, Ii)

≤
∞∑

m=0

∑
i | mΔt≤ti<(m+1)Δt

e−rmΔt�(xi)Ii

≤ sup
x

�(x)

∞∑
m=0

e−rmΔt
∑

i | mΔt≤ti<(m+1)Δt

Ii

≤ sup
x

�(x)

∞∑
m=0

e−rmΔt(xns + FmaxΔt)

= (sup
x

�(x))
xns + FmaxΔt

1 − exp(−rΔt)
.
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���  ���	
�
��! �� ��
 ����	���� ����	
�

!� ����
�� ���� ���
	
���� ������	
�� �� 	�� ����	
�� y∗(x)� ��
�� ������ @��
��� )�@*
����� 	�� ���
	
���� ����	��
�	 	��	 x0 = x�

#�

� , "�� �������	�� ) ������ ��� ������ ���� ��� �����	�� π 	� ������ �������
��� ���� ��� �����	�� �� ��� ���
����

max
y;

0≤y≤x0

[π(x0, x0 − y) + G(x∗, x̄∗, y)] ,

������� 
� y∗(x0)� 	� 	����	��� ���� ��� �����	�� y∗(x) 	� �������	�� ��� x ≥ x̄∗� �� �����	��
����� 	� )��*� ��� �����	�� y∗(x) 	� �������� ��� ����� �� x∗ �	��� y∗(x̄∗) = x∗�

������ 1�	 H(x, y) = π(x, x − y) + G(x∗, x̄∗, y)� �� y = y∗(x) ���
�
%�� H(x, y) ��� x
���� �� �� 
�	��
�� ����	
��� 	��� ��� ��� x�

Hy(x, y∗(x)) = 0 , Hyy(x, y∗(x)) ≤ 0 .

:
 ����	
�	
�� 	�� 
���	
	� 0 = Hy(x, y∗(x)) �
	� ������	 	� x� �� �
	�
��

y∗′(x) = − Hxy(x, y∗(x))

Hyy(x, y∗(x))
=

πxI + πII(x, x − y∗(x))

Hyy(x, y∗(x))
.

��� ������	�� �� 	�
� �������
�� 
� ���
	
��� 
� 1���� � iii)� ��� �����
��	�� 
�
����	
�� ������
�� 	� 	�� ������#����� ����
	
��� ��
� �������
�� 
� 	�������� ����	
���

�� �&���
	� ����� 
� )��*� 	�� ������	�� ��	����� ���
����� ��� y∗′(x) = 0� ��� �����
�� y∗(x) 
� 	�������� ����	��	�

��� ������
 ����������� ��� #�����	 ���$

����
!

�� 	�
� ������
�� �� ������� � 	����
��� �����	 ��
�� 
� ������ 
� � ���
�	� �� �
	��	
����
��
� �����	 
� ��	����� �� ����
��	
�� �� 	�� :����
� @�������
�� ��
��
��� �� ������� ��
	� 	�� ������
��� �� 	��<��	��
���

A����� �	�	
�� 	�� �����	� �� ���� ���� ����
�
���
��� (����� 	��	 � ���
�� P 
�
���� 	��	 xi+1 ≥ xi� 1�	 δt = τ(xi − Ii, xi)� '���
��� 	�� ������
�� ���
���	
��� �� 	��
��������� ���
�� P �

�����
 � )������ 	�� ������	
�� �	 ti*

��� k < i- tA
k = tk� IA

k = IkG

��� k ≥ i- tA
k = tk−1 − δt� IA

k = Ik−1�

�����
 . )���� ���� 	�� ������	
�� ������
�� �	 ti*

��� k ≤ i- tB
k = tk� IB

k = IkG

��� k > i- tB
k = tk+1 + δt� IB

k = Ik+1�

�����
 � )��������� ��������� 	�� ������	
�� ������
�� �	 ti*

��� k < i- tC
k = tk� IC

k = IkG

79



��� k ≥ i- tC
k = ti + (k − i)δt� IC

k = Ii�

(����� ��� 	��	 	�� ���
�� P 
� ���� 	��	 xi+1 ∈ (x(t+i−1), xi]� ����� 
� ������	
���
t−1 = 0 
� 	�� ���� i = 1� �� 	��	 ����� 	���� ��
�	� � 	
�� T = ti − τ(xi+1, xi) ���� 	��	
x(T ) = xi� 1�	� �� �
���� δt = τ(xi − Ii, xi)T � ��� ����� 	�� ���
�
�� (� A ��� ' <��	 ��
�
����

����� ���
�
�� ��� 
����	��	�� 
� �
���� 7 a) 
� 	�� ���	 ����� ��� b) 
� 	�� ������ ����

!� ��� ��� �	�	� 	�� �����	�

#�

� / &���	��� �� 	������ ������� ���	�� P ��	�� 	� ���� ���� �	���� xi ∈ (x(t+i ), xi+1]
�� xi+1 ∈ (x(t+i−1), xi] ��� ���� i� ����� ��� ��	� �� ���	�� P 	� ������� ���� ���� �� ���	�	��
A �� C ����������� �
�
��

������ (����� ���	 	��	 ���
�� P 
� ���� 	��	 xi ∈ (x(t+i ), xi+1]� ��
�� 
���
�� xi+1 ≥ xi�
1�	 GP � GA� GB ��� GC 
� 	�� 	�	�� ����	� ��� ���
�
�� @� (� A ��� '� :���	� �
	� V0 	��
������	#����� ��
�� �����
�	�� �
	� 	�� ���	 �� 	�� 	��<��	��� 
����� ti )��
�� 
� ������
	� ��� 	���� ���
�
��* ��� ��	 Gπ = V0 + e−rtiG̃π ��� ���
�
�� π ∈ { @� (� A� ' }� �	 
� ����
	� ��� 	��	

G̃P = π(xi, xi − Ii) + e−rδtG̃B

G̃A = π(xi, xi − Ii) + e−rδtG̃P

G̃C = π(xi, xi − Ii) + e−rδtG̃C .

(� � �����&������ �� ���� 	�� 
���	
	�� G̃P − G̃A = e−rδt(G̃B − G̃P )� ��
� 
���
�� 	��	
G̃P ≤ max(G̃A, G̃B)� $��	� 
� �� ���� G̃P ≤ G̃A� 	��� �� ���� G̃A ≤ π(xi, xi−Ii)+e−rδtG̃A

�� 	��	�

G̃A ≤ π(xi, xi − Ii)

1 − e−rδt
= G̃C .

��
� ������ 	�� �	�	����	�
'���
��� ��� 	�� ���� x
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E;F

E�F

E�F

EDF

E;F EDF

�F �F

EDF

E�F

E�F

E�F EDF

EDF

EDF

E;F E�F

E;F
xi

xi+1

xi+1

xi

�
���� 7� ��� ��
�
��� ���
�� @ ��� 
	� ���
���	
��� (� A ��� '� ��� 	�
����� ��������	�
	�� ����
���� �� 	�� 	��<��	���� ��
�� 
� ������ 	� @� ( ��� A� �� 	� � ��
�	 
� 	
���

��� k = j- tA
j = tj � IA

j = b − cG

��� k > j- tA
k = tk−	 + δt� IA

k = Ik−	�

�����
 0.1 )������ 	�� �
��� �� 	��<��	��� ���� b 	� c*�

��� k < i- tB
k = tk� IB

k = IkG

��� k = i- tB
k = tk� IB

k = a − dG

��� k > i- tB
k = tk+	 − δt� IB

k = Ik+	�

����� ���
�
�� ��� 
� �
����
%�� 
� �
���� ,� ��
�� ��������	� 	�� �����	
�� �� 	�� ����#
��	
�� ����� ���� �� 	�� 	���� ���
�
��� ��� 	�
����� ��������	� 	�� ���	 �� 	�� 	��<��	����
��
�� 
� 	�� ���� ��� ��� 	���� ���
�
��� �����	 ��� � ��
�	 
� 	
��� ��� ���	����� ��������	�
�� ��

	���� �
��� �� 	��<��	���� ��
�� ��� ����

�� ��
	 	�� ����� [b, c]���

��� �
�����	�� ����	� G �����
�	�� �
	� 	�� ��
�
��� ���
�� P ��� 
� ��
		�� ���

G = V0 + Ri π(a, a − c) + Ri V1 + Rj π(b, b − d) + Rj Vd

����� Ri ��� Rj ��� 	�� �
�����	��

Ri = e−rti Rj = e−rtj ,

��� ����� V0� V1 ��� Vd ��� 	�� ������	#����� ��
�� �����
�	�� �
	� 	�� ���	 ���	 ��
	�� 	��<��	���� ��� 	�� �
���� �� 	�� 	��<��	���� ������	
����� 
� 	�� 
�	������ (ti, tj) ���
(tj , +∞)�

V0 =

i−1∑
k=1

e−rtk π(xk, Ik) V1 =

j−1∑
k=i+1

e−r(tk−ti) π(xk, Ik)

Vd =
∞∑

k=j+2

e−r(tk−tj) π(xk, Ik) .

��)�� &�������� 1���� b = c �& ����1��� �� 1���� ��&� ��� ����� �� ���=�����+ ��+ �� ����+�  � ����
��&�� ����� �& � ������ ���%�&� �� ��� &��� ��&���� �� �����
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tAj

ti
tAi
tBi

tj tAj+�

E�F

d

c

b

EDF E�F

a

�
���� ,� ��� ��
�
��� ���
�
�� ��� 
	� ���
���	
��� )(* ��� )A*

��� 	�	�� �
�����	�� ��
�� �����
�	�� �
	� ���
�
�� )(* ��� )A* ����

GA = V0 + Ri π(a, a − c) + Ri V1 + Rj π(b, b − c) + Rj V1 + Rj ρ π(b, b − d) + Rj ρ Vd

GB = V0 + Ri π(a, a − d) + Ri Vd ,

�
	� ρ = Rj/Ri = exp(−r(tj − ti))� (�����
����� 	�� ���
���	
��� 
� 	�� ����	 
���
��

� ��
	��
�� ���� 	�� ��
�
��� ���
�� 	� �
	��� )(* �� )A* ����

G − GA = Rj (π(b, b − d) − π(b, b − c) + Vd − ρπ(b, b − d) − V1 − ρVd)

G − GB = Ri (π(a, a − c) − π(a, a − d) + V1 + ρπ(b, b − d) + ρVd − Vd) .

(� � �����&������ �� ���� 	�� ������
�� 
���	
	��

π(a, a − c) + π(b, b − d) − π(a, a − d) − π(b, b − c) =
1

Rj
(G − GA) +

1

Ri
(G − GB) .

H���� (�����	
�� ,� 	�� ���	#���� �
�� 
� ����	
��� �� 	�� 
��&���
	� 
� )��* 
� �	�
�	� 
	 
�
���� �	�
�	�� ����	
��� ��
� 
���
�� 	��	 ��� �	 ����	 �� GA �� GB 
� �	�
�	�� ������ 	���
G� ��� ���
�� �����	 
� ��	
���� ��
� ������ i)�

�� �&���
	� ����� )��* ��� 	�� ���
�� @ 
� ������� 	� 
� ��	
���� 	��� GA = GB = G
��� ���
�
�� )(* ��� )A* ��� ��	
��� �� ����� ����� ���
�
�� ���� 	�� ������	
�� ���
���

� ii)�

��( ����5 �5 ��
��
� �

��� ����� 
� ������	�� 
�	� 	�� ������ �� x0 
� I����� ������J� 	�� ����� 
� ���� 
� 	��<��#
	��� ������
��� �������	�� ��� 	�� ���� �� I�����J x0� 	�� ����� ����
�	� 
� ��
���
��
	�� ��	
�
%�	
�� ���
���� )(@* ��� )�@* 
�	� � ���� ������� ��	
�
%�	
�� ���
���� 	���
����
�� 	�
� ���� ������� ���
���� ��� ����	
�� 	���� ��	 	� 
� ����
��� 
� )(@* ���
)�@*� ��� ��	
��� 	�� �����
� ��������
�� �&��	
���
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���������	 	�� ���	 �� 	�
� ���	
��� (�����	
�� - 
� ������� 	� ����� �� 	��	 	��
��	
��� ������ ��� )(@*� x∗ ��� x̄∗� ��� ���� �������

1�	 w(·) 
� ������� �� 
� )�,*� ���

w(x) =

⎧⎨
⎩

G(x∗, x̄∗, x) 
� x < x̄∗

e−rτ(x,x∗(x)) [π(x∗(x), x∗(x) − y∗(x)) + G(x∗, x̄∗, y∗(x))] 
� xsup ≥ x ≥ x̄∗.
),6*

����� (x∗(x), y∗(x)) 
� ��� ����	
�� �� 	�� ���
��� )�@* �
	� 
�
	
�� ������	
�� x0 = x�
��� ������
�� �����	 �
�� 
� ������ ��� 	�� ������
'���
��� ���
��� )(@*� �	� ����	
�� ���� ��	 ������ �� 	�� 
�
	
�� �	��� ����� x0� ��

���� �� 	�
� ����� 
� ����� �������

#�

� 2 ������ ���� (x∗, x̄∗) ���
�� +��! ��� ���� 
���� �� xns > x0 > 0� ���� 	�
���
�� +��! ��� �
��� 
���� �� x0�

������ ��� �����	 ������� ���� 	�� ���	 	��	 ��� ��� x0� x1�

G(x, x̄, x0) = e−rτ(x0,x1) G(x, x̄, x1) .

��������� 	�� 	�� ����	
��� ��� ������	
����� �
	� � ������	
����
	� ���	�� ��
�� 
� �	�
�	��
���
	
�� 
� 0 < x0 < xns ��� 0 < x1 < xns� ��� ���
���� )(@* ��� x0 ��� )(@* ��� x1

���� 	�������� 	�� ���� ����	
���� �� x1 = 0� �� 
� x1 = xns� 	��� G = 0 ��� ��� (x∗, x̄∗)
���
�
%�� 
	� �� x1 = xns ��� 	�� ����	� 
� ���	� 	�� ������
�� �
��� ����
���

��'�� ����� ��� x0 < x̄∗

#�

� �3 �� �������	���  ��� ) ����� ���� ��� �����	�� w(x0) ���
�� ��� �����	�
��������	�� �����	�� )8* ��� ��� x0 < x̄∗�

(�����
�� 	� ������� �� 	�� ����� ����	
�� �� ���
��� )@* ���
����

v(x) = max
t≥0

0≤y≤φ(t,x)

e−rt [π(φ(t, x), φ(t, x) − y) + v(y)] ),8*

= max

{
max
0≤y≤x

[π(x, x − y) + v(y)] , ),3*

max
x<x̄≤xns
0≤y≤x̄

e−rτ(x,x̄) [π(x̄, x̄ − y) + v(y)]

}
. ),4*

��
� ��������
	
�� 
� �
	�
��� 
� ������	
�� 	�� ���� t = 0 )�������
�� ),3** ���� 	��
���� t > 0� ��� �������
�� 	�� ������ �� ���
�
�� t = τ(x, x̄) 
� ),4*� ��
� ������ ��
���
�
�� ���� 	�� 	
�� 
�	����� t ∈ (0, +∞) 	� 	�� 
�	����� �� ������	
��� x̄ ∈ (x, xns) 
�
	�� 2��� D���	� ����� ��� x̄ ∈ (x, xns] 
� 	�� ���	 D���	� ����� �
��� x ≤ xns�

!� ���	 ���� 	��	 	�� ����	
�� w(x)� ������ 
� ),6*� � ����	
�� �� L&��	
�� ),8*�
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A� ������	
��� x < x̄∗� K�����
�� v(y) 
� 
	� ����� 
� ),8*� 	�� �
��	#���� �
�� ���

� ��
		�� ���

M = max

{
max
0≤y≤x

[π(x, x − y) + G(x∗, x̄∗, y)] , )-F*

max
x<x̄≤xns
0≤y<x̄∗

e−rτ(x,x̄) [π(x̄, x̄ − y) + G(x∗, x̄∗, y)] , )-�*

max
x<x̄≤xns
x̄∗≤y≤x̄

e−rτ(x,x̄)

[
π(x̄, x̄ − y) )-7*

+ e−rτ(y,x∗(y)) [π(x∗(y), x∗(y) − y∗(y)) + G(x∗, x̄∗, y∗(y))]

]}
.

!� ������
%� 
� 	�� 	��� )-�* 	�� ���
��� )�@*� !� ����� ���	 	��	 	�
� 
� 	�� ������	 ��
	�� 	����� '���
���� ��� ���� y = y0� 	�� ����� 
� 
�����	� 
� 
� )-7*� �	 ����������� 	� �
���
�� @ �
	� 	�� ������	� x̄ → y0 ��� x∗(x) → y∗(x)� ��� ����� ��� ������� ������
��
	� ��
�� �� x̄ ��� x∗(x) 
� 	�� ������	�
&��� x̄ ≥ x∗(x)� 
� 	�
� ����� 	���� 	�� ������	� ��� ��������
�� )�
��� y∗(x) < x̄∗ ≤
y0*� 
� ��
�� ���� 1���� 7 ����
��� ��� ���
�� @ 
� ���
��	�� 
� �	 ����	 ��� �� 	��
���
���	
���� �� 	�� ���
��	
�� ���
�� 
� 	�� ��� �
	���	 	�� ������ ��	� 	��� 
	� �����

� ������	 
� )-�* ���� y ��� 	�� ����� y∗(y0)� �� 	�� ���
��	
�� ���
�� 
� 	�� ��� �
	�
�� ���
	
���� ��	� 	��� 
	 
� ���� 	� ��� )��� ��� 
��	���� 	�� ����� �� 1���� 3* 	��	 	��
���
�� �
	� � ����
� ������	
�� �
	� 
�	����� [x̄∗, y] 
� ���� 
�		��� A�	 	�
� ���
�� ����
���
� ��
� �&��� 	� π(x̄, x̄−y)+e−τ(y,x̄∗)G(y, x̄∗, y) ≤ π(x̄, x̄−y)+e−τ(y,x̄∗)G(x∗, x̄∗, y)� @��
��
@ 
� 	�������� ���
� ���
��	�� 
� ���� ���
�� ��������	�� 
� )-�*�

&��� x̄ < x∗(x)� 
� 	�
� ����� 1���� 3 ����
��� ��� ���
�� @ 
� ���
��	�� 
� �	 ����	
��� �� 	�� ���
���	
���� L
	��� 	�� ���
��	
�� ���
�� 
� 	�� ���
���	
�� I(J �
	���	 �
������ ��	� 
	� ��
� 
� ��� �� 	�� ������ 
� )-�*� =� 	�� ���
��	
�� ���
�� 
� 	�� ��� �
	�
� ����
� ������	
��� ��� ������
�� �
��� 	��� ����
�� ��� 	���� ��
�	� � ����� 
� )-�*
��
�� ���
��	�� 	�� ����� 
� )-7*� !� ���� ����� 	��	 )-7* 
� ������� 	��� )-�*�

$��	� �� ���� 	��	 )-F* 
� ���
��	�� 
� )-�*� L��� y 
� )-F* ����������� 	� ����
���
�� Py ��
�� 	�� ���	 ������	� ��� x → y ��� x̄∗ → x� 2
��� x 
� ������� 	��� x̄∗� ��
��� 
� 	�� �
	��	
�� �� 1���� 3 ���
�� ��� ���
�� Py 
� 	�������� ���
��	��� �
	��� 
�
	�� ���
�� ( ��
�� ����
�	� 
� �����
�� �
���	�� 	�� ����� �
	� 
�	����� [x∗, x̄∗]� �� 
� 	��
����
��� ���
�� �
	� 
�	����� [y, x]� ��
� ��� 
� 
� 	��� ���
��	�� 
� 	�� ����
��� ���
�� (
������
�� 	� (�����	
�� -� �� 
�	� ������ Py 
� ���
��	�� 
� '� 2
��� 	�� ��
� �����
�	��
�
	� C 
� ������	 
� )-�* )�
	� x̄ = x̄∗ ��� y = x∗*� 	�� 	��� 
� )-F* 
� ���
��	�� 
� 	��
	��� 
� )-�*�

(	 	�
� �	���� �� ���� ������ 	��	 )-�* ���
��	�� 	�� 	�� �	��� 	����� �� 	��	�

M = max
x<x̄≤xns
0≤y<x̄∗

e−rτ(x,x̄) [π(x̄, x̄ − y) + G(x∗, x̄∗, y)] .

����� ����
�� 	� 
� ������ 	��	 	�� ���
��� 
� 	�� �
��	#���� �
�� 
� ������� �	 x̄ = x̄∗

��� y = x∗� L��� ����� �� 	�� �
��	#���� �
�� 
� 	�� ��
� �� ���� ���
�� @ ��
�� 	�� ���	
��	� ��� x1 = x̄ ��� x2 = x̄∗� !��	��� x̄ < x̄∗ �� x̄ > x̄∗� 	�� ����
��	
�� �� 1���� 3

���
�� 	��	 @ 
� ���
��	��� �
	��� 
� ���
�� I(J ��
�� ��� 	�� ����� G(x∗, x̄∗, x)� �� 
�
���
�� I'J ��
�� 
� ��� 	�� ����� G(y, x̄, x) < G(x∗, x̄∗, x) 
� (�����	
�� - ��� 1���� 4�

,F



��� ����� �� M 
� ����
�� ���� 	� 
� e−rτ(x,x̄∗)G(x∗, x̄∗, x̄∗) = G(x∗, x̄∗, x) = w(x)� ���
����	
�� w ������ 	�� A������ �&��	
�� ��� x < x̄∗�

��'�� ����� ��� x0 ≥ x̄∗

#�

� �� �� �������	���  ��� ) ����� ���� ��� �����	�� w(x0) ���
�� ��� �����	�
��������	�� �����	�� ��� ��� xns ≥ x0 ≥ x̄∗�

������ K�����
�� v(y) 
� 
	� ����� 
� ),8*� 	�� �
��	#���� �
�� ��� 
� ��
		�� ���

M ′ = max

{
max

0≤y<x̄∗ [π(x0, x0 − y) + G(x∗, x̄∗, y)] , )-,*

max
x̄∗≤y≤x0

[
π(x0, x0 − y) )--*

+ e−rτ(y,x∗(y)) [π(x∗(y), x∗(y) − y∗(y)) + G(x∗, x̄∗, y∗(y))]

]
,

max
x0<x̄≤xns
0≤y<x̄∗

e−rτ(x0,x̄) [π(x̄, x̄ − y) + G(x∗, x̄∗, y)] , )-9*

max
x0<x̄≤xns

x̄∗≤y≤x̄

e−rτ(x0,x̄)

[
π(x̄, x̄ − y) )-6*

+ e−rτ(y,x∗(y)) [π(x∗(y), x∗(y) − y∗(y)) + G(x∗, x̄∗, y∗(y))]

]}
.

������
�� 	�� ������
�� 
� ����� �� 1���� �F� 	�� 	���� )--* ��� )-6* ��� ������	
����
���
��	�� 
� )-,* ��� )-9*� ����� ����
���

M ′ = max

{
max

0≤y≤x̄∗ [π(x0, x0 − y) + G(x∗, x̄∗, y)] ,

max
x0<x̄≤xns
0≤y≤x̄∗

e−rτ(x0,x̄) [π(x̄, x̄ − y) + G(x∗, x̄∗, y)]

}

= max
x0≤x̄≤xns
0≤y≤x̄∗

e−rτ(x0,x̄) [π(x̄, x̄ − y) + G(x∗, x̄∗, y)] .

��
� 
� 	�� ����
	
�� �� @��
��� )�@*� ��� ����	
�� 
� 	�������� (x∗(x0), y∗(x0))� ��
��
��������� 	�� ������

��0 ����5 �5 ��
��
� �

��� �	�	����	 i) �� ������� , 
� � �
���	 �����&����� �� ������� 7�
��� �	�	����	 ii)� �� ���� 	�� ������
�� �����	� ��
�� 
� � ��������� �� (�����	
�� ,

��� 1���� 7�

#�

� �� �� �������	��  ������ ���� ��� �
��� �����	�� �� ���
��� +�! ��	�� 	� ���
����	���� ����� �%	��� � ����	��� �����	�� �	�� ��� ���� 
�����
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������ �	 
� ��������� 	� ������	��
%� ���	 ���	 � ���#����
��� ����	
�� ��� 
�� ����
	�� ����
	
�� �� ����
��� ���
�
�� 
� 2��	
�� ,��� 
	 ��� 
� ���� 
� 
�����	
�� 	��	 	�� ��	
�� ����

�� ������ ��� 	�� ������	
�� x(t) 
� �� 
�	����� 
������� 
� [0, xns]� ��� 	��	 �����
�
���� ����� �* �
	��� 
� ������� ���� ����� 
* �� 
� ������� �� 
���
	� ���
�� �� 	
���
������
�� 	� � ���
��
� ��&����� s1, s1 + T, s1 + 2T, . . . ��� ���� T > 0� �* �� 
� F� (
����	
�� ��
�� 
� ��	 ����
��� ����� 	��������� i* �
	��� ����� ������	
�� ������ ��
�� ���
��	 �� 
�	������ ii* �� ����� ���� ����� v �= 0 � ���
�� �� 	
��� ��
�� 
� ��
	��� � ���

���
	�� iii* �� ����� ���� ����� v �= 0 ������
�� 	� � ��&����� �� 
��	��	� ��
�� 
� ��	
���
��
��

��� ���	 �	�� 
� 	� ������� ���#����
��� ����	
��� 	� )@* ��
�� ��� ���� 	��	 x(s) = x(t)
��� ���� s < t� ��� ���� � ���
�� )(*� ����
��� 	�� �������	 ���� t� 1�	 )A* 
� 	�� ���
��
��
�� ����
�	� 
� �������
�� 	�� ���� ��	���� �� )(* �� 	� 	
�� t� ���	 �����
�� 	��
��	
��� ����
��� ���
�� �
	� 
�
	
�� ������	
�� x(t) 
�	 ��
�	�� 
� 	
�� 
� t ��
	�� ���
������ ������� 
� ���
�� (B) ��� ������� �
	��� ���� �� �� 
���
	� ���
�� �� 	
��� �	
���
��
� 
�	������� (� � �����&����� �� ������� �� 	�� ����� ����	
�� �� ���
�� )A* 
� 	��
���� �� )(*� ���������� � ���
�� ��
�� 
� ���� 	��	 ii) �� iii) ��� 
� �������� 
� � ����
���
����

��� ������ �	�� 
� 	� ��
�
��	� ���
�
�� �� 	��� i)� ��� ���� ���
�
��� 	���� ��
�	� ����
i < j ��� � ��&����� �� ������ a > b ≥ c > d� ���� 	��	 ��� ���� i� xi = a� Ii = a − c�
��� xj = b� Ij = b − d� (�����
�� 	� 1���� 7� ���� � ���
�� �����	 
� ��	
��� 
�
(�����	
�� , ����� �	�
�	��� �� 	�� �	��� ����� 	�� ���
�� ��� 
� �������� �
	� ���	���
���
�� �
	� 	�� ���� 	�	�� ����	 
�	 ��� ������	 ����� �� 	�
� ���
�� 
� ��	 ����
���� ��

����	
�� 
� ����
�� 	� ����	���	 � ����
��� ���
�� ��
�� ��� 	�� ���� ����	 �� 	�� ��
�
���
����

(�����
�� 	� 	�
� ������ �� ���� 	��	 �� ��� ���	�
�	 ��� �		��	
�� 	� ����
��� ����#
	
��� �� )@*� 2��� ����	
��� ��� ������	��
%�� 	������ 7� ���
� ����
� ���	 
� �
��� 
� ��
������	
�� 
�	����� [x∗, x̄∗] ��
�� 
� ��������
�� �� 
�	��
�� ����	
�� �� )(@*�

��2 ����5 �5 �����!����� �

�
��	 �� ���� ������ 	��	 ������
�� 	� 	�� ����
	
�� �� 	�� ����	
�� G 
� 2��	
�� ,��� ��
�����

G(0, x̄, x0) = π(x̄, x̄) e−rτ(x0,x̄) ,

��� 	��	 	�
� 
� 	�� ����	 �� � ����
��� ���
�� �
	� ������	
�� 
�	����� [0, x̄]� ����
�� 	�
	�� 
�
	
�� �	��� x0 ≤ x̄� ��� L1A ������	� ����� 
� 	���� ��
�	� � xm ���� 	��	� x0 
�
��
�
����

��� max
x, x̄; x≤x̄

G(x, x̄, x0) = (0, xm) .

( ��������� ����
	
�� ��� 	�
� 	� ������ 
� 	��	 	�� ��
� (0, xm) 
� � ����� ���
��� ��
	�� ����	
�� G(·)� !� 	�������� �����	� �� ������
�� �� 	�� ����	
�� 
� 	�� �
�
�
	� ��
(xm, 0)� �	��	
�� �
	� 	�� �������
���

G(k, xm + h; x0) = π(xm + h, xm + h − k) e−rτ(x0,xm+h) 1

1 − e−rτ(k,xm+h)
. )-8*

!� ����� �
�
	 	�� ������
��� 	� 	�� ���	 ����� 	���� 
� ����� 	� �
	�
� ��������� ���#
�
	
��� ��� ���� �� ��	����� 	� ��
�	� 1�	 η = |h + k|� =�
		
�� 	�� �������	� �� 	��

,7



����	
��� ���� 	��� ��� (xm, xm)� �� �����

π(xm + h, xm + h − k) = π + h

(
∂π

∂x
+

∂π

∂I

)
− k

∂π

∂I
+ O(η2)

τ(x0, xm + h) = τ(x0, xm) + τ(xm, xm + h)

= τ(x0, xm) +
h

F (xm)
+ O(η2)

���� ��
���

π(xm + h, xm + h − k) e−rτ(x0,xm+h) )-3*

= e−rτ(x0,xm)

(
g + h(

∂π

∂x
+

∂π

∂I
− rg

F (xm)
) − k

∂π

∂I
+ O(η2)

)
.

��� 	�� ����������	 �� τ(k, xm + h) = τ(k, xm) + τ(xm, xm + h)� 
	 
� ��������� 	� ����
��
	�� 
����
�� �� 	�� ����	� ����	
�� 
� 	�� �
�
�
	� �� 	�� ��
�
�� ������� �� ���� 	��	�

τ(k, xm) =

∫ xm

k

1

F (u)
du .

����� �� 	!� (����� ���	 	��	 F (x) ∼ αxβ �
	� α > 0 ��� β > 1� �� 	�
� ����� 	��

�	����� �
��� �
������ �� k → 0� ��� ��	������

τ(k, xm) ∼ k1−β

α(β − 1)
.

(� � �����&������ exp(−rτ(k, xm)) = o(km) ��� ��� m > 0� �� �	��� ������ 	�
� ����	
��
	���� 	� F ���	�� 	��� ��� �������
��� �� k → 0� �	 ������� 	��	 	�� 	�
�� ���	�� 
� 	��
�
��	#���� �
�� �� )-8* 
� ����
�

�� 
� 	�� ������
��� ��� ������
�� ��� G ��
��
��� �
	�
	�� �
��	#���� �
�� �� )-3*� ��� �� �����

G(k, xm + h; x0) − G(0, xm; x0) = e−rτ(x0,xm)

(
h(

∂π

∂x
+

∂π

∂I
− rg

F (xm)
) − k

∂π

∂I
+ O(η2)

)
.

)-4*

H���� 	�� ������	
�� 	��	 (∂π/∂I)(x̄, x) < 0 ��� ��� x̄, x� 	�� �
 ������ �
��� ��� ������

� ���� ����	
�� ��� � ���
	
�� ���
�� �� k� (� � �����&������ 
	 
� ������ 
�		�� 	�
������	 	�� �������� 
� 	�
� ����� ��� 
��	 ���
�� ��� xm 
� 	� ��	
��� 	�� ����
	
���

∂g

∂x̄
(xm, 0) = π(xm, xm)

r

F (xm)
, )9F*

����� �� 		!� $��	� ����
��� 	�� ���� ����� F (x) = αx + O(x2)� �� 	�
� ����� 	����
������

τ(k, xm) =
1

α
log

xm

k
+ O(1) .

'����&���	��� exp(−rτ(k, xm)) ∼ Ckr/α ��� ���� ����	��	 C� :���	� �
	� a 	�� ��	
�
r/α� ��� ������
�� �� 	�� 	�
�� 	��� 
� )-8* 
��

1

1 − e−rτ(k,xm+h)
= 1 + C ka e−rτ(xm,xm+h) + o(ka)

= 1 + C ka (1 +
h

F (xm)
+ o(h)) + o(ηa) .

,,



�� a > 1� 	��� 	�� 	��� ka 
� ����
�

�� 
����� k� ��� )-4* ������ ��� ���� �������
�� ��
�
��� ��	�
��� 
	 
� ������� 
�		�� 	� ������	 	�� �������� 
� 	�
� ����� �� a < 1� 	�� 	����
�� ����� k ��� ����
�

�� �
	� ������	 	� ka� ��� ������
�� �� G 
� 	����

G(k, xm + h; x0) = e−rτ(x0,xm)

(
π + h(

∂π

∂x
+

∂π

∂I
− rπ

F (xm)
) + Ckaπ + o(ηa)

)
.)9�*

�� xm 
� ������ �� �� 	� ��	
��� 	�� ����
	
�� )9F*� 	�� ���"�
��	 �� h 
� 	�� �
��	#����
�
�� �� )9�* 
� %���� ��� �������
�� 
� 	��	 	�� �
 ������

G(k, xm + h; x0) − G(0, xm; x0) ∼ e−rτ(x0,xm) Ckag(xm, 0)


� ���
	
�� ��� ��� ���
�	
�� k� �	 
� 	�������� ��	 ��	
��� 	� ������	 	�� ��������� �
������

� a = 1� 	�� ������
�� �� G 
��

G(k, xm + h; x0) = e−rτ(x0,xm)

(
π + h(

∂π

∂x
+

∂π

∂I
− rπ

F (xm)
) + k(Cπ +

∂π

∂I
) + o(η)

)
.

)97*

(��
�� 
� xm ������ )9F*� 	�� ���"�
��	 �� h ���
����� ��� �������
�� ������� �� 	�� �
��
�� 	�� ���"�
��	

V = Cπ(xm, xm) − ∂π

∂I
(xm, xm) .

�� V > 0 	��� ������	
�� 	�� �������� 
� ��	 ��	
���� �� V < 0� 	��� 
	 
� �������
��	
���� �� V = 0� � ������#����� ������
�� 
� ��������� 
� ����� 	� ��������� =
�����
	��	 
� 	�� ������	 ����� 	�� ����	��	 C 
� ���� 	��	 exp(−rτ(k, xm)) ∼ Ck� �� 	��	
C = limk↓0 τ(k, xm)/k�

����� �� 			!� �
������ ������ 	��	 F (x) ∼ αxβ �
	� α > 0 ��� 0 ≤ β < 1� �� 	�
�
����� 	�� 
�	����� ��
�� ������ τ(k, xm) ��������� �� k → 0� 	� ���� ����� T � (� �
�����&������ �� �����

lim
k↓0

G(k, xm, x0) = e−rτ(x0,xm) π(xm, xm)
1

1 − e−rT
.

2
��� G(0, xm, x0) = exp(−rτ(x0, xm))π(xm, xm) ��� π(xm, xm) ≥ 0� �� �����

G(0, xm, x0) ≤ lim
k↓0

G(k, xm, x0) .

���������� ������	
�� 	�� �������� 
� ��	 ��	
����
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